[ [Qtell ggre 22 oA,
25000000m?2 = [ |km?

YR
-



[ toll 7bg ggke wolo] 9| Zho} 7] 52 AAQ
@ cm? © m? © a
@ ha @ km?2

ceeggel ol : of 4]

e =
-




v
mlo
ol
4d
T
i
do
|
)
[%ﬂ

e 2L ol AU

@ 6t = 6000000 g @ 500kg = 04t
@ 120000g = 1200kg @ 0.03kg =30g

® 7000g = Tkg
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@ 24a = 240m? @ 1300a = 1.3ha
@ 8km?2 = 80000 a @ 1.6km2? =1600a

B 47m?2 =470a
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@D 3.6ha = 360 m? @ 46a = 46000 m?
® 240a = 0.024 km?2 @ 300m? =0.03a

3 8km2 = 8000000 a,
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@D 0.21ha
® 5800a

B 1.41 km?2

@ 3000 cm x 45 m

@ 1.43km?2



@ 3t = 3000kg @ 9000t = 9kg
@ 2t = 2000000 g @ 0.6kg =600g

® 0.65t = 650kg
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